
RECALL  

Use the method we learnt yesterday to answer these 

questions 

1,955 x 31 =

1,234 x 21 =

9,023 x 55 =

Remember to include the remainders in your 

final answer.

Put the answers in ascending order.



LEARNING HABIT RESILIENCE. 

LO: Use knowledge of multiplying to solve problems  

Some will even work explain why their method is the most efficient

Some will explain how they solved their answer. 

Most will work in a systematic way. 

All will use trial and error to solve the problem.
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